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4. REMEREASHREHAD

SRXE | HEH | B = &t BREZ | ek B =z &
&t 223239 259,288 274,778 534,066 A 882 1,079 1,172 2,251
3 g:] 3,274 3,129 3,575 6,704 2= 3,299 4301 4578 8,879
WE 3,179 3,066 3,530 6,596 = 1,051 1,411 1,552 2,963
® 3,673 3,627 4,099 7,726 fiE 1,702 2,185 2,352 4537
EH 3,451 4,021 4,186 8,207 &8 2,240 2,785 2,884 5,669
W5 5,269 5,539 5506 11,045 =i 4,506 5,184 5640 10,824
FHA 5211 5,507 5643 11,150 F3 3,396 4334 4,610 8,944
iz 3,821 3,503 3,819 7,322 EE® 1,140 1,445 1,505 2,950
i 7,068 8,069 8522 16,591 hF 2,793 3,575 3,821 7,396
= [ 5,829 6,261 6,645 12906 TE 1,672 2,202 2,346 4,548
TE 4,902 5,816 6,294 12,110 ZE1t 300 400 434 834
bz} 3,655 3,939 4433 8,372 G 7,159 7,869 8173 16,042
HAL 3,106 3,194 3,545 6,739 EH 5,313 6,403 6,693 13,096
L 4776 5,672 5955 11,627 KER 6,463 7,377 7,739 15116
KE 3,888 4324 4,650 8,974 =ik 5,491 6,653 6,758 13411
i 2,505 2,948 3,109 6,057 =B 1,988 2,259 2,419 4,678
TER 4,942 6,043 6,547 12,590 RE 1,548 1,678 1,888 3,566
= [T 3,781 4,102 4530 8,632 e 799 1,280 1,310 2,590
%72 2,726 3,046 3,443 6,489 [=4A 2,875 3,077 3,143 6,220
L 3,341 3,468 3,443 6,911 [LHEEZ 4,041 5,168 5149 10317
Bis 1,186 1,518 1,642 3,160 J\Ii% 7,489 8,701 9511 18212
Pl 1,036 1,346 1,442 2,788 KiE 5,188 6,358 6,618 12976
AIZE 1,886 2477 2,667 5,144 KiEXK 2,638 3,522 3,691 7,213
B 701 805 622 1,427 AXE 2,241 2,531 2,631 5,162
=& 783 1,015 1,097 2,112 BT 4,137 4,810 5,116 9,926
B4 1,863 2,457 2,566 5,023 B[S 4317 5,251 5540 10,791
a4 3,155 3,467 3,734 7,201 B IR 4,929 6,111 6,352 12,463
EHEE 3,734 4501 4,746 9,247 REB 1,896 2,377 2,551 4,928
AR 3,000 3,756 3,952 7,708 Rl 2,943 3,543 3,480 7,023
Bk 4,659 5,479 5939 11418 =P 6,389 7,629 8,068 15697
=)= 2,899 3,295 3,451 6,746 J\R 1,148 1,290 1,378 2,668
A 799 971 1,007 1,978 5| 3,858 5,156 5200 10,356
*H 1,580 1,877 2,041 3,918 05 2,460 2,997 3,197 6,194
EiEd 457 628 558 1,186 Xig 2,849 3,402 3,638 7,040
& 2,260 2,694 2,946 5,640 HE 3,704 3,385 3,757 7,142
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6.4 X All & i (3R 7) A A O 18&

N INEIPN) TBRIL() < BB_MEmBAEALTLET >
wRA &t 0~147% | 15~64 | 65LLE TEEE 0~147% | 15~64 | 65l TEEE |
Ei] 534,066 77.772 331,419 124875 57275 146 62.1 234 10.7
B | 259,288 39,869 166,289 53,130 21,635 15.4 64.1 20.5 8.3

% | 274,778 37,903 165130 71,745 35,640 13.8 60.1 26.1 13.0

$ 8 6,704 804 4,035 1,865 956 12.0 60.2 27.8 14.3
L 3,129 405 1,996 728 341 12.9 63.8 23.3 10.9

L8 3,575 399 2,039 1,137 615 11.2 57.0 31.8 17.2

R 6,596 784 3,937 1,875 917 119 59.7 28.4 139
= 3,066 402 1,931 733 319 13.1 63.0 239 10.4

£°8 3,530 382 2,006 1,142 598 10.8 56.8 324 16.9

R 7.726 799 4,471 2,456 1,209 10.3 57.9 31.8 15.6
L 3,627 392 2,250 985 419 10.8 62.0 27.2 116

£°8 4,099 407 2221 1471 790 9.9 54.2 35.9 19.3

1EH 8,207 1,065 5271 1,871 873 13.0 64.2 22.8 10.6
B 4,021 569 2,683 769 328 14.2 66.7 19.1 8.2

%= 4,186 496 2,588 1,102 545 11.8 61.8 26.3 13.0

o 11,045 1,604 7.434 2,007 866 14.5 67.3 18.2 7.8
= 5,539 840 3,865 834 302 15.2 69.8 15.1 5.5

£°8 5,506 764 3,569 1173 564 13.9 64.8 21.3 10.2

FiA 11,150 1.627 7.171 2.352 1,032 14.6 64.3 21.1 9.3
L 5,507 805 3,709 993 388 14.6 67.4 18.0 7.0

£°8 5,643 822 3,462 1,359 644 14.6 61.4 24.1 114

15 7,322 715 4,557 2,050 1,033 9.8 62.2 28.0 14.1
= 3,503 367 2,329 807 364 105 66.5 23.0 10.4

L8 3,819 348 2,228 1,243 669 9.1 58.3 325 175

ol 16,591 2633 10,642 3,316 1,525 15.9 64.1 20.0 9.2
= 8,069 1332 5,320 1,417 605 16.5 65.9 17.6 75

N L8 8,522 1,301 5,322 1,899 920 15.3 62.5 223 10.8
= 12,906 1,894 8,172 2,840 1,243 14.7 63.3 22.0 9.6
L 6,261 1,038 4,092 1,131 444 16.6 65.4 18.1 7.1

L8 6,645 856 4,080 1,709 799 12.9 61.4 25.7 12.0

TE 12,110 1,937 7,642 2,531 1,049 16.0 63.1 20.9 8.7
= 5,816 997 3,696 1,123 412 17.1 63.5 19.3 7.1

L8 6,294 940 3,946 1,408 637 14.9 62.7 22.4 10.1

i) 8,372 1,187 5,034 2,151 1,152 14.2 60.1 25.7 13.8
= 3,939 593 2,507 839 411 15.1 63.6 213 10.4

L8 4,433 594 2,527 1312 741 134 57.0 29.6 16.7

e 6,739 865 4,036 1,838 1,005 12. 59.9 27.3 14.9
L 3,194 448 1,997 749 371 14.0 62.5 235 11.6

£°8 3,545 417 2,039 1,089 634 11.8 57.5 30.7 17.9

Ll 11,627 1,826 7,190 2,611 1,207 15.7 61.8 225 10.4
= 5,672 952 3,597 1,123 491 16.8 63.4 19.8 8.7

L8 5,955 874 3,593 1,488 716 14.7 60.3 25.0 12.0

KE 8,974 975 5,799 2,200 1,007 10.9 64.6 245 11.2
= 4,324 485 2,916 923 375 11.2 67.4 21.3 8.7

£°8 4,650 490 2,883 1,277 632 105 62.0 275 13.6

EYE 6,057 977 3,858 1,222 586 16.1 63.7 20.2 9.7
B 2,948 498 1,924 526 221 16.9 65.3 17.8 75

£°8 3,109 479 1,934 696 365 15.4 62.2 22.4 11.7

TER 12,590 2,058 7,966 2,566 1,052 16.3 63.3 20.4 8.4
L 6,043 1,045 3,869 1,129 394 17.3 64.0 18.7 6.5

N L8 6,547 1,013 4,097 1,437 658 155 62.6 219 10.1
= [T 8,632 1,207 5411 2,014 910 14.0 62.7 23.3 105
L 4,102 634 2671 797 349 155 65.1 19.4 8.5

£°8 4,530 573 2,740 1217 561 12.6 60.5 26.9 12.4

ez 6,489 827 3,853 1,809 879 12.7 59.4 279 135
L 3,046 418 1,868 760 331 13.7 61.3 25.0 10.9

L8 3,443 409 1,985 1,049 548 11.9 57.7 305 15.9

-1 6,911 845 4,461 1,605 721 12.2 64.5 23.2 10.4
L 3,468 439 2,341 688 271 12.7 67.5 19.8 7.8

% 3,443 406 2.120 917 450 11.8 61.6 26.6 13.1
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i INEION)] TBRLEE(h) <OBME_fMEmBAALCLET >
g . 0~14%% | 15~64 | 65LL T5ELE | 0~14%% | 15~64 | 651 TEELE
B 3,160 389 1,895 876 421 123 60.0 277 133
L 1518 193 939 386 169 12.7 61.9 25.4 11.1
L8 1,642 196 956 490 252 119 58.2 29.8 15.3
&0 2,788 295 1,677 816 344 10.6 60.2 29.3 12.3
L 1,346 146 819 381 140 10.8 60.8 28.3 10.4
L8 1,442 149 858 435 204 10.3 59.5 30.2 14.1
BIZE 5,144 468 3,103 1573 826 9.1 60.3 30.6 16.1
L 2477 221 1,586 670 315 8.9 64.0 27.0 12.7
L8 2,667 247 1517 903 511 9.3 56.9 339 19.2
LSS 1.427 93 939 395 235 6.5 65.8 27.7 16.5
k2l 805 46 600 159 85 5.7 745 19.8 10.6
£°8 622 47 339 236 150 76 54.5 37.9 24.1
& 2,112 269 1,296 547 239 12.7 61.4 25.9 11.3
L 1,015 136 645 234 88 134 63.5 23.1 8.7
L8 1,097 133 651 313 151 12.1 59.3 285 13.8
B4 5,023 718 3,202 1,103 435 14.3 63.7 22.0 8.7
L 2457 372 1,581 504 166 15.1 64.3 205 6.8
L8 2,566 346 1,621 599 269 135 63.2 233 105
7 4BR 7.201 869 4,495 1,837 876 12.1 62.4 25.5 12.2
k2l 3,467 433 2277 757 313 125 65.7 21.8 9.0
L8 3,734 436 2,218 1,080 563 11.7 59.4 28.9 15.1
= 9,247 1,327 5,896 2,024 876 14.4 63.8 219 9.5
L 4501 681 2,938 882 310 15.1 65.3 19.6 6.9
L8 4,746 646 2,958 1,142 566 13.6 62.3 24.1 11.9
Al AR 7,708 1,547 4,725 1,436 688 20.1 61.3 18.6 8.9
k2l 3,756 791 2,358 607 244 21.1 62.8 16.2 6.5
L8 3,952 756 2.367 829 444 19.1 59.9 21.0 11.2
=] 11,418 1,838 6,765 2,815 1,283 16.1 59.2 24.7 11.2
= 5479 923 3,348 1,208 520 16.8 61.1 22.0 9.5
£°8 5,939 915 3417 1,607 763 15.4 57.5 27.1 12.8
BHE 6,746 766 3,985 1,995 920 114 59.1 29.6 136
L 3,295 399 2,023 873 357 12.1 61.4 26.5 10.8
L8 3451 367 1,962 1,122 563 10.6 56.9 325 16.3
A 1,978 211 1,118 649 309 10.7 56.5 328 15.6
k2l 971 114 585 272 115 11.7 60.2 28.0 11.8
L8 1,007 97 533 377 194 9.6 52.9 374 19.3
#HE 3,918 370 2,335 1,213 579 9.4 59.6 31.0 14.8
L 1877 189 1,188 500 212 10.1 63.3 26.6 11.3
L8 2,041 181 1,147 713 367 8.9 56.2 34.9 18.0
F 1,186 144 721 321 143 12.1 60.8 27.1 12.1
k2l 628 86 389 153 53 13.7 61.9 24.4 8.4
£°8 558 58 332 168 90 10.4 59.5 30.1 16.1
A5 5,640 794 3,352 1,494 674 14.1 59.4 26.5 12.0
L 2,694 398 1,647 649 261 14.8 61.1 24.1 9.7
L8 2,946 396 1,705 845 413 13.4 57.9 28.7 14.0
SR 2,251 231 1,267 753 399 10.3 56.3 335 17.7
L 1,079 121 625 333 165 11.2 57.9 30.9 15.3
L8 1172 110 642 420 234 9.4 54.8 35.8 20.0
B=E 8,879 1,405 5,322 2,152 1,020 15.8 59.9 24.2 11.5
k2l 4,301 719 2,640 942 398 16.7 61.4 219 9.3
L8 4,578 686 2,682 1,210 622 15.0 58.6 26.4 136
i) 2,963 396 1,770 797 429 134 59.7 26.9 145
L 1411 200 877 334 158 14.2 62.2 23.7 11.2
L8 1,552 196 893 463 271 126 57.5 29.8 175
g 4,537 595 2,626 1,316 636 13.1 57.9 29.0 14.0
L 2,185 321 1,299 565 233 14.7 59.5 25.9 10.7
L8 2,352 274 1,327 751 403 11.6 56.4 319 17.1
legis 5,669 589 3,308 1,772 592 10.4 58.4 31.3 10.4
L 2,785 326 1,601 858 254 11.7 57.5 30.8 9.1
L8 2,884 263 1,707 914 338 9.1 59.2 317 11.7
=i 10,824 1,668 6,958 2,198 902 15.4 64.3 20.3 8.3
L 5,184 849 3,396 939 346 16.4 65.5 18.1 6.7
% 5,640 819 3,562 1,259 556 14.5 63.2 223 9.9
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N INEIPN) TBRIL() < BB_MEmBAEALTLET >
g . 0~147% | 15~64 | 65LLE TEEE 0~147% | 15~64 | 65LLE TEEE |
&2 8,944 1.202 5.440 2.302 1,000 134 60.8 25.7 112
L 4,334 628 2,701 1,005 380 145 62.3 23.2 8.8
L8 4,610 574 2,739 1,297 620 125 59.4 28.1 134
EEE 2,950 396 1,748 806 327 13.4 59.3 27.3 11.1
L 1,445 217 858 370 126 15.0 59.4 25.6 8.7
L8 1,505 179 890 436 201 11.9 59.1 29.0 134
h3F 7.396 974 4,345 2,077 831 13.2 58.7 28.1 11.2
= 3,575 515 2,091 969 343 14.4 58.5 27.1 9.6
L8 3,821 459 2,254 1,108 488 12.0 59.0 29.0 12.8
TEM 4,548 614 2,847 1,087 554 135 62.6 23.9 12.2
L 2,202 290 1,439 473 218 13.2 65.3 215 9.9
L8 2,346 324 1,408 614 336 13.8 60.0 26.2 14.3
Z=24t 834 109 474 251 161 13.1 56.8 30.1 19.3
L 400 56 240 104 62 14.0 60.0 26.0 155
L8 434 53 234 147 99 12.2 53.9 339 22.8
fih EE 16,042 2385 10,026 3,631 1,669 14.9 62.5 22.6 10.4
L 7.869 1,198 5,155 1516 595 15.2 65.5 19.3 7.6
L8 8,173 1,187 4,871 2,115 1,074 145 59.6 25.9 13.1
EMH 13,096 2,243 8,584 2,269 894 17.1 65.5 17.3 6.8
L 6,403 1,118 4,296 989 346 175 67.1 15.4 5.4
£°8 6,693 1,125 4,288 1,280 548 16.8 64.1 19.1 8.2
HER 15,116 2,317 9,595 3,204 1,449 15.3 63.5 21.2 9.6
L 7.377 1,192 4,841 1,344 552 16.2 65.6 18.2 75
N L8 7.739 1,125 4,754 1,860 897 145 61.4 24.0 116
=ik 13.411 2,651 8,698 2,062 907 19.8 64.9 15.4 6.8
= 6.653 1,355 4,411 887 346 20.4 66.3 13.3 5.2
£°8 6,758 1,296 4,287 1.175 561 19.2 63.4 17.4 8.3
=k 4,678 617 2,751 1,310 646 13.2 58.8 28.0 13.8
L 2,259 342 1,380 537 238 15.1 61.1 23.8 105
%= 2419 275 1371 773 408 11.4 56.7 32.0 16.9
RE 3,566 311 2,020 1,235 629 8.7 56.6 34.6 17.6
L 1,678 153 1,026 499 214 9.1 61.1 29.7 12.8
L8 1,888 158 994 736 415 8.4 52.6 39.0 22.0
e 2,590 384 1,664 542 252 14.8 64.2 20.9 9.7
= 1,280 194 859 227 92 15.2 67.1 17.7 7.2
L8 1,310 190 805 315 160 14.5 61.5 24.0 12.2
I 4 6,220 701 3,915 1,604 724 11.3 62.9 25.8 116
L 3,077 379 2,013 685 280 12.3 65.4 223 9.1
L8 3,143 322 1,902 919 444 10.2 60.5 29.2 14.1
[GHE— 10,317 2,028 6,610 1,679 753 19.7 64.1 16.3 7.3
= 5,168 1,060 3,395 713 297 20.5 65.7 13.8 5.7
L8 5,149 968 3,215 966 456 18.8 62.4 18.8 8.9
I\ 18,212 3028 11,286 3,808 1,678 16.6 62.0 21.4 9.2
L 8,701 1,535 5,550 1,616 623 17.6 63.8 18.6 7.2
L8 9,511 1,493 5,736 2,282 1,055 15.7 60.3 24.0 11.1
KiE 12,976 2,042 7.785 3,149 1,516 15.7 60.0 24.3 11.7
= 6.358 1,058 3,932 1,368 600 16.6 61.8 215 9.4
£°8 6,618 984 3,853 1,781 916 14.9 58.2 26.9 13.8
KiEE 7.213 1,304 4,571 1,338 573 18.1 63.4 185 7.9
L 3,522 665 2,254 603 238 18.9 64.0 17.1 6.8
L8 3,691 639 2317 735 335 17.3 62.8 19.9 9.1
AXE 5,162 633 3,185 1,344 602 12.3 61.7 26.0 11.7
L 2,531 320 1,632 579 232 12.6 64.5 229 9.2
L8 2,631 313 1,553 765 370 11.9 59.0 29.1 14.1
e 9,926 1,477 5,950 2,499 1,200 14.9 59.9 25.2 12.1
= 4,810 745 3,010 1,055 439 155 62.6 219 9.1
L8 5116 732 2,940 1,444 761 14.3 57.5 28.2 14.9
NBBS 10,791 1,596 6,864 2,331 1,027 14.8 63.6 21.6 9.5
L 5,251 798 3.429 1,024 414 15.2 65.3 19.5 7.9
L8 5,540 798 3,435 1,307 613 14.4 62.0 23.6 11.1
fgs R 12,463 1,917 7,660 2.886 1,237 15.4 615 23.2 9.9
L 6,111 1,004 3,814 1,293 516 16.4 62.4 21.2 8.4
% 6,352 913 3,846 1,593 721 14.4 60.5 25.1 114
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N INEIPN) TBRIL() < BB_MEmBAEALTLET >
*XIZ% E 0~14j|71:_ﬁ 15~64 651;J»J: W 0~14j|71:_ﬁ 15~64 65DJ~J: ’W
RER 4,928 823 3,041 1,064 481 16.7 61.7 216 9.8
L 2,377 409 1,531 437 177 17.2 64.4 18.4 7.4
L8 2,551 414 1,510 627 304 16.2 59.2 24.6 119
0 b i 7,023 926 4,331 1,766 863 13.2 61.7 25.1 12.3
k2l 3,543 465 2,322 756 322 13.1 65.5 213 9.1
£°8 3,480 461 2,009 1,010 541 13.2 57.7 29.0 155
Bk 15,697 2421 9,976 3,300 1,462 15.4 63.6 21.0 9.3
£l 7,629 1.241 4,975 1413 534 16.3 65.2 185 7.0
£°8 8,068 1,180 5,001 1,887 928 14.6 62.0 23.4 115
J\K 2,668 293 1,542 833 408 11.0 57.8 31.2 15.3
£l 1,290 142 803 345 143 11.0 62.2 26.7 11.1
L8 1,378 151 739 488 265 11.0 53.6 354 19.2
#5| 10,356 2,210 6,504 1,642 717 213 62.8 15.9 6.9
k2l 5,156 1,118 3,309 729 279 21.7 64.2 14.1 5.4
£°8 5,200 1,092 3,195 913 438 21.0 61.4 17.6 8.4
0 6,194 711 3,804 1,679 774 115 61.4 27.1 125
L 2,997 376 1,879 742 307 12.5 62.7 24.8 10.2
L8 3,197 335 1,925 937 467 105 60.2 29.3 14.6
Kig 7,040 1,020 4,108 1,912 927 145 58.4 27.2 13.2
L 3,402 553 2,014 835 366 16.3 59.2 245 10.8
£°8 3,638 467 2,094 1,077 561 12.8 57.6 29.6 15.4
HE 7.142 828 4,400 1,914 966 116 61.6 26.8 135
k2l 3,385 420 2,208 757 318 12.4 65.2 22.4 9.4
% 3,757 408 2192 1,157 648 10.9 58.3 30.8 17.
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7. BT R EiE

THHET 4 Eia(ha) |fTERHET S E#a(ha) [1TEHET A mi&(ha)
g m i 534437 |$yE A EHRT 1.4 |TEBET/NI 94.9
3R JTHET 24 |BFEIER 40 |fE@EBT LR H 56.7
AHT 538 |BF R EEFRIET 47 |TEEBTANSAR H 805
78 S HET 28 |BELEHAT1TH 53 |{EEBTEIE 354
f2ET 20 |BELHET2TH 32 [fEEBT— &R 364
+ Z FraiTET 3.2 |B7 B KFNHET 13 |dbg 353
B2l 2.8 | TpHT 5.0 |FIR 81.4
SFEHET 3.5 |EFFET 3.8 |FEH 85
I EAET 7.6 | X #HHET 0.1 |F% 14.8
AMRHET 43 |FROHRT 51 [=&HBT1TH 51
ZHT 43 |#HEET2TH 37 |=4&HB12TH 45
== 35 [fHERT3T B 5.3 [{HET 71
%t AHT 6.9 |tZEET4TH 41 |tz 4 29.1
FAEET1TH 40 [tHERTST B 25 |FERAITET 13.3
FAEET2TH 6.5 | ERAT 10.6 |Z;RHET 9.6
75 ERAITET 2.8 |BEHRT 2.2 |db &Kk BHET 139
B R HT 32 |[BERETROAS 3.7 |At&HE/RHET 185
STHT 1.8 | EETEF M 45 |FAE1TH 5.9
£ HT 2.9 |JERATEK 55 |FE&2TH 6.0
15 /T 43 R AT da] R 39 |F&3TH 2.0
HRET 2.8 [EETE LM 38 [dt%1TH 15.4
B IHET 1.8 |HZEHT 05 L& = DHET 13.6
ERATET 70 | RESTH 26 [=ZEBMIJEROET 9.8
H = FEET 3.6 [WEETT 2 43 (= EEMYEFE DR 10.7
JoiGET 35 |HEFER1TH 26 |FEIEXR 53.6
SEEFHET 22 |REFER2TH 54 [EXR 25.2
Ik E BT 55 | REFERSTH 39 |HEX 8.1
B HET 78 |REER4ATH 47 |FHA 20.6
HWER6TH 35 [WERETRETE 41 &1L 13.8
&£O01TH 2.2 |ER4ERET 15.2 |8xFH 242
dt&O2TH 37 |mN&1THE 6.2 |BREXRA4TH 48
t&O3TH 54 |HIl&E2TH 36 |HIEXRSTH 5.0
&O4TH 15 |HII&3TH 54 |ZE1TH 36
t&OsTH 32 [tHERT1TH 01 |%HE2TH 46
ZREET 21 |m=ET1TH 20 [%#@A3TH 6.9
S ARET 21 |mET2TH 22 |ZHE4TH 94
HERET 18 |ZRETSTH 1.2 |ZELET 6.4
B ER AT ET 3.0 | KZ=HT 49 |F#W1TH 9.8
EIN: ) 23 |ALERT 36 |FH2TH 36
F BB BP9 ER 18 |H)IE&E1TH 14 |REXR1TH 6.6
RET 09 |HII+E&E2TH 24 |HREXR2TH 8.6
7 B BT 09 [BHET1TH 13 |REKRI3TH 32
t=EHET 10 |BHET2TH 25 |3EXR1TH 43
J\KHET 04 |BHET3TH 50 |&lL1TH 9.4
£ =EHT 05 |EXHE1TH 15 |&ll2TH 7.1
S BT HET 07 |EXHET2TH 21 [8RA1TH 8.3
B2 HT 0.7 |fhz#ET1TH 15 |8kA2TH 73
f2ARHET 0.6 |THZ4EET2T B 24 [RA3TH 89
KEHET 03 |z 4EET3TH 3.5 |FaFRET 2.7
F2ediin) 09 |hz#ET4TH 2.3 [ EHT 2.0
Y EHRT 51 |EFET1TH 0.6 | Z[HET 17
ST s T 31 |=mET2TH 2.0 |JcHT 42
S8R HET 17 |=E#EEISTH 2.6 |/NEEET 24
78 FHT 14 |=FEET4AT B 2.7 [km@EHET 0.9
KEFHT 2.6 |#F0AET 46 | £ FHET 02
B R T 1.9 [ R ET 4.6 |1&E57HET 42
M/ % HT 1.1 |EHT 6.5 |HhpamET 26
FE 743 |E LET1TH 7.8 | B EHET 06
7 B R [R]ET 16 |=LE[2TH 25 |$8/RET 4.6
57 B Hrir 1.2 | MZERT 39 |FHREMET 18.7
57 8 chiT 1.1 |#ET 6.4 |RFEET2T B 13
ESEEL) 1.3 |[TEEBTE K 49.3 |MERT3 T B 0.7
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1TEET £ mia(ha) |fTERHET R mia(ha) [1TEET A mi&(ha)
fRiERT4 T B 11|45 E5TH 79 | ESTH 19.5
fRiERTS T B 12 |FE4E6TH 14.2 |36 TH 15.8
fRiERT6 T B 09 |[AESE7TH 47 |[BFE1TH 18.8
REN1TH 29 |FE45®ESTH 117 |HFE2TH 235
REB2TH 13 |y & 143 |HFEITH 105
HER3TH 06 |lLk1TH 148 ([HFHRATH 173
REW4TH 11 lL®2TH 18.7 |/NFIIAKET 15
RERSTH 12 |4t4E2TH 8.3 |EEHRT 2.7
REM6TH 10 |4t4E3TH 12.1 |#NET 0.4
fE=fT1TH 12 |4t4®1TH 4.1 |#4KHET 29
EE/2TH 1.3 | & LU ET 332 |EfEFHI 48
E=BI3TH 06 | FTEH1TH 23.1 |#hLLdk 27
B[4 TH 10 | FTFH2TH 174 (& ANET 09
HAEET1TH 12 |FFH3TH 11.7 |5 HHET 15
HAEET2TH 12 |FFH4TH 134 |REEHET1TH 11
HAEE3TH 05| FTFH5TH 73 |REEFET2TH 0.8
HAEET4ATH 10 |FF8H6TH 6.1 |FE¥FETSTH 0.9
& JHT 10 |®R47E2TH 22 |RE¥FETATH 0.7
#*/0 386 |fHFREEI2T B 44 |BEEFHTS T B 15
FaE 82.1 |#FMEISTH 6.3 |BEEFAT6 T B 0.8
% H 59.1 [##F[FI4T B 4.0 |[EET 54
i ith 297 |EEIB1T B 48 | LLHET 35
EF 8.1 [EWE2TH 4.6 |‘BumET 179
g 519 |EIB3TH 14 |HxH1TH 70
=i 850 ([HZF1TH 60 [EixFH2TH 4.7
r $h = BT 94 |BF2TH 51 |®EE#H3TH 78
TI1TH 6.1 |HE3TH 92 |EHEEHA4TH 5.4
T12TH 103 |AF4TH 6.2 [BTER R DOHT 57
T1LU3TH 59 [B¥F5TH 45 [BFERT1TH 22
T4 TH 102 |AEF6TH 65 |FHER2TH 6.1
TIu5TH 63 [BF7TH 52 |FB#HEXRITH 6.5
+Il6TH 6.1 |H¥E8TH 11.3 (LU EFFHT 10.5
+I7TH 6.1 |AFILFHET 38 [/\ft 14.4
TILEDET 35 |xH#H1TH 6.9 |RM=E 39.0
BT iEEg T 22 |xxH2TH 105 |FER 0.1
EFF1TH 98 |1 H3TH 49 |FERAE1TH 8.4
EFF2TH 98 |xxH4TH 6.6 |FITERAH2T B 45
EF3TH 109 | H5TH 8.0 |HIERAHIITH 49
EF4TH 9.1 |xxH6TH 6.8 |ITERAHA4T B 4.6
EfmE1TH 51 |xxH#7TH 89 |HERAHIST B 6.6
EiRE2TH 50 |xx#8TH 210 |FIEERAHGT B 185
LI 4 %7 H 95 |iEHOTH 10.0 |/\HX#xY BT 8.9
518 70 |13 FE1TH 9.6 |/\ X EHIHET 105
HEZRIA1TH 51 [{#132FE2T B 59 |J\RRESFHT 6.1
HEZRIA2TH 35 [ 73T H 6.6 [dL/\X1TH 6.0
HEZRIA3TH 45 | FE4TH 59 [dL/\X2TH 53
+F5 68.3 |fHIALFEST H 76 [/\MXAET1TH 6.7
5B 0.2 |f#:rFa6 T H 6.1 [/\{XAHET2TH 41
LZRE1TH 41 |1 TH 9.0 |3t A HET 6.6
LZR&2TH 19 |3z 2TH 5.0 [F&/\{CHT 6.4
MEKB1TH 39 |3 TH 7.6 [E/\{CHET 10.2
MEK2TH 38 [ h4TH 75 [BE#HER 7.0

518 51 | H5TH 6.8 |ItFHEXRI1TH 78
#MEEF1THE 57 |tHIs 6 TH 39 [It#FHER2TH 9.3

4B1TH 33 [ h7TH 6.7 |dtFEXRITH 58

4E3TH 11.8 |#&3L$8TH 68 |FTEXR1TH 30

457E4TH 42 |#irdt1TH 46 |FER2TH 4.2

47%E5TH 6.2 [f#1:rdk2T B 307 |FEXRITH 31

47E6TH 8.0 |t dt3TH 236 |FITERATH 25
1= B 7 BT 12.7 |#32dt4TH 46.8 |I2E1L 117.1
BSE1TH 145 (#13LR1TH 88 |[LIE1TH 6.6
mSE2TH 8.1 |#HIsIE2TH 141 |[5I&2TH 18.4
mSE3TH 14.7 |33 TH 8.7 [t #HET1 T B 72
m5E4TH 7.2 |#E151 AT H 124 3L #RET2T B 7.1
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1TEET £ mia(ha) |fTERHET R mia(ha) [1TEET A mi&(ha)
WALFETST B 8.6 |M4RRATIR 7T 425 [FWLAE1TH 19.0
& = BT 33.7 | PR4ERAT LI B 63.1 |FLLFE2TH 10.3
At E5 Ry D BT 10.4 (PR4ERET L5 196 |FWWHAEITH 36
ItFHE 10.0 |PH4ERET b 85 99 |FILAEATH 9.9
L FEEEIFA 255 |PH4ERET A< SER 419 [FWLAESTH 57
TEH1TH 7.4 |O4ERET B B 91.2 (Faf% 282.8
tFEH2TH 16.0 |U4ERETERE 86.7 [ A 1935
FEH3ITH 3.5 |U4ERET B AT 4R 1595 |#HE7 207.2
LEEFH4TH 14.0 |EEEFET RSB 1222 |B- 241.9
FEH5TH 8.2 |tHEEFETE S F 67.1 |FAEBTHA L 280.2
FEFH6TH 9.9 |tHEEFETEE 90.2 |#AHAETILH 250.4
EXEH1TH 6.2 |fHE FrET P fEE 209 (#RABTH LT 37.1
tX¥%2TH 5.4 |RIFFET{E L %7 1120 |#AEHET/AAS 1854
FRHEITH 19.0 |BIFFETR ELET 11.2 (#REHET/\IF 110.0
EXR¥FH4TH 6.0 [AIFFETIE £ 1354 |MAEARTEER 2515
FXRHESTH 35 | AP BT AR 126.2 |#AEETOER 62.6
EX¥F6TH 6.0 [AIFFETILTE 94.4 |*AEHBTH L 152.3
EXEH7TH 75.4 |BIFFET /N 29.0 |#AEETERAT 45
RKEEBE1TH 38 |AIFFETEL1TH 11.0 |*AEETHH 8.0
RKFEE2TH 96 |BIFFETIEL2T B 9.8 |#AEHHBT E4E 80.7
AXEE 45 |RIFFRTELX3TH 7.3 |*AEHBTHE 63.0
e SHT 36.6 |BIFRETAIRT1T B 95 [#RHEETAR 13.8
R 95.2 (RIFFETRIFR2T B 135 |#AHET T 19.4
BE 975 |RIFFETRIFRST B 76 |#AEBETKIZ 296.2
icl==l = 512 (RIFFETRIFRAT B 59 |#AHEEBT E{FE 408.0
BEEHET1TH 6.2 |RIFFETBIFRS T B 6.8 |#AEBT T {FE 331.1
BEAET1TH 21 [EE 501.1 |EAERAET{E B FN 163.3
BEAET2TH 59 |AH#E 35 |EmERATE 789
BiEEHET2TH 92 |EE&A1TH 50 [EARETEE 116.2
BE1TH 108 |£EE&2TH 10.3 | A B ET G 5 167.9
BE2TH 66 |ZEE&A3TH 8.9 |#mERATILLL 36.2
BHES3TH 84 |BEXEE 12.4 |BRERHET & 63.8
BE4TH 158 |7<A 415 |SRERETEIRET 146.4
BESTH 141 | I 104.0 |ERERET Y [547 & 75
WRE&AE1TH 6.9 | 7t S L BT 2.7 |ERERET/NEET 76.7
WRE&E2TH 16.9 |&LWL 1452 |EMERET /MR 2131
WREA3TH 183 |FERIE1TH A7 |ERERET/\E1H 3397
WRE&E4TH 104 |FBERIE2T B 5.4 |fRERETILEF 237
EIE 4789 |FEERIE3TH 26 |ERERATRE 355.4
—£57 1242 |&hPE 166.4 |EMERET KEH 16.1
ZHIET EH 478 |EhEES 29 [ERERETEE 38.8
ZRIETILE 506.6 |JII78 135 |EmER BT LG 2637
SHIETER 303.1 [JIIFTEE 62 |BEEHTEE 470.3
ZRIEEE 565.6 |BATH 275 [BEETHEE1TH 5.0
ZHIET X 3R 154.1 |EikF 751 (BEETHEE2TH 31
ZRIEEE 0.2 [#TH#k 5029 |B2EETHEITH 49
ZHIET R H 3678 |BEE&1TH 188 |2ERTERE4TH 41
ZHIETIEH 855 |HE&2TH 249 |2 EHTHIFE 5327
EHIET AN 2 E 2779 |BEB&3TH 319 |2EHTHA 497.2
ZHETH2 2N 98.1 |#&x&1TH 10.0 | LU EETHE 119.1
BRI SR 3026 |[#&2TH 12.9 [LLAETFELH 726
ZHIETRIZ E 11213 [HFWI1TH 9.6 |ILEABTEILLA 464.8
SRIETHE 680.3 [FLWLAL2TH 205 (LU AETIE L 722
ERIETTE 7373 |HFWAL3TH 250 (LLABTZ A 179.6
ZHIETILZ A 40280 |BWW1TH 12.1 |fR:EET 569.8
ZRIETF S 2912 |HW2TH 59 [EFHTESR 704
ZRIET 4 1335 |FWSTH 118 |&FHETE 64.2
ERIETEH EF 936.4 |FLL4TH 104 |BFETXEAE 189.1
ZRIETIEAR 509 |HFLW5TH 6.9 [FFETAIR 678.6
ERIETEE 4527 |HWW6TH 136 |EFHETHE 122.4
ZHIET=H 101.0 |FWm1TH 28 [EFETKE 96.2
5 FiT BT oy A L 116.8 |FWm2TH 30 |BFETH{ZEH 62.7
ERIETF 6476 | 5LUE3TH 38 |BEFHTHE 11.7
ZHETE A H 5495 | F51LUFF4TH 8.1 | BEFHTLE 39.4
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THHET 4 mia(ha) |fTERHET R mia(ha) [1TEET A mi&(ha)
EFHETEMME 593.6 |AfEE X N 4.4 |BmEE X Al Rk R iE N 6.9
EFETALH 148.2 |#MEE X MNEER 8.8 |fMEEX IR FEWN 5.0
EFATRF 3064 |MAERSAERI1THE 6.6 |#ffiEE X Bl B AE A 29.3
EFETER 3795 |MFERSHERI2TH 8.1 |EMEERX Y& )| BT 39
EFETHF 508 |MFEERXSERIITH 6.1 |EREEXERE 129.7
EFET LT 106.2 | fifiBE X = T 0.9 |#MEEXZEEE B HHET 85.2
EFETEH 3.4 |BEE X {5k 13 |fMERX EREFEIRAT 235
EFETEDO 1356 |BHEXRELT RS & 7.3 |SREX ERE R EAT 35
EFET AL 454 |8 EE X L I 425 | REHE 594.7
TEERE 379.8 |fEX LGS 37 |REETER 635.4
TEE AR 3475 |hEREE 477 |RERTHHE 3216
TEET =% 550.5 |#fiBE X 2 & {RERAl 3.4 |[EM X AL ia] [ BT 53
TEERE 90.3 [fMEEXHEET1TH A7 |IGMAXALEFRT1 T B 77
TEEIET 3725 |EXMEET2T B 29 |IGMAXILEFRT2T B 48
TE BTHEARE 208.7 |AREEX A FEEETS T B 47 |[GMXFE/KET1TH 43
ZEE =R 2283 |AEEXREEAEBBI1TE 3.2 |[[GMXF/KET2T B 28
ZEETHI 1925 |SEXREEERHET2TE 52 [[GMX;E/KET3TH 10
TEEHEF 163.2 |BhEE X SR ET 46 [[GMRAET1TH 30
TEE R 652.2 |ffEEX &= T 29 |IGEXAET2T B 37
TEER 6080 [fiEREEES 17 |IGMXAETSTH 12
T EETE A 936.7 |MFEXXEET1TH 53 |IGMXAET4T B 2.0
== BT R 12136 |EHEXXERT2TH 70 |[GHXAETST B 13
thEXE 5.0 |AfEE X & ;F/KHET 53 |[GMAXAHRT6TH 22
finEE X Kk 22 |EREERXEE F/KET 46 |[[BMXRFKRLET1TH 25
A EE X K 38 |fMEREE F/KET 72 |IGMRXRKIGET2TH 2.7
i BE X #1T 1829 |EMEXHERT1TH 65 [[GMXKRLEISTH 30
i EE X 280 6.8 [fEEXHERT2TH 36 [[GMREFHET1TH 53
B EE X fEsE 3.3 [EX RT3 T B 65 |[LMXEFHET2T B 4.4
B EE X R YR 29 |FEREEEE1TH A3 |[GMREFHEIST B 6.1
fnEEX Eih 79 |SFEXREEEE2TH 77 |[GHXRET1TH 6.9
EEXEXE 348 |MFEXEEHEI1TH 41 |[EMXEET2T B 5.6
BREEXFK 52 |AiEREERET2TH 6.1 |[GMAXERT1TH 7.4
fhEEX &L 37 |EHEXEERE1TH 41 |[EMXEERT2T B 7.0
i BE X SR ET 17 |ShEXEE/™ET2TH 48 |[GMRZRIET1T B 85
thEXT S 365.8 |HEREEMBAETSTH 31 [[GHMRZERIET2T B 10.4
thEXEE1TH 45 |SMEEXPEEET1T B 35 [[GMRZERIAET3T B 8.2
thEXE=E2TH 56 |fREXTEER2TH 35 |[[GMRZERIET4A4T B 97
thEXEEITH 16 |[MHERXTEERISTH 31 ([[BMXREMETTHE 25
tHhEX E1TH 45 |SHERSET1TH 95 [[GMXIEF&E2TH 3.2
fEEXE/K1THE 39 [SHERSHET2TH 89 [[GMXIEF@E3TH 25
fEEX;E/K2TH 45 |SRERXMH1THE 6.2 [[GMXIEFE4TH 40
fHEEX;E/KITH 43 |ERERXRH2T B 78 [[GMXEFEET1TH 4.7
MEXHPE1TH 17.8 | EE X BaI Ak 57 [[GMXEFEET2TH 5.4
MEXHPE2TH 4.3 |8hEEX = FNHT 6.1 [[GMXEFEETITH 29
MEXHPEITH 7.2 |fhEE X E7 EHHET 10.8 |[GMHX/MART1TH 8.3
ERXSHER 989 |BFEEX=%F1TH 121 |[GEX/RET2T B 10.6
tEXSHER2TH 93 [fiEER==E2TH 46 [[GMAX/MART3T B 79
tEXSHERITH 125 |8iEEX=E3TH 39 [[GMX/IMART4AT B 5.0
thEXSHERITH 119 |MEX EEFA1TH 38 AR EEET1TH 77
B BE X N 264 [fiEEX EEFE2TH 42 (MR = EET2T B 38
SnEE X 43 176 |BAEX L¥A3TH 58 [[GMXSER3TH 9.2
EhERX BEE 37 |AFEEX EEAEATH 71 (GRS ER4TH 79
i EE X AR BT 275 [fiEEX E¥FESTH 75 |[GEXREZERT1THE 6.3
£ BE X FA A FET 181 |fMEX L¥AG6TH 85 |[LMXEER2TH 4.4
tEXSHERSTH 49 (SAEX G EH1THE 51 |[GMXEZEESTH 7.1
thEXSERSTH 126 |MHEXGEH2TH 58 |[[GMXXKET1TH 6.9
thEXSER7TH 74 [SiEXFEFHITH 47 |[EMAXKET2T B 4.6
i BE X Z2 B7 /T 107 |8REEXSFEHATH 58 |[[GMXKETST B 58
EXE1TH 93 [fiEX TEH1TH 73 [[GMHXE HT 607.5
fEXE2TH 152 |MHEX TEHHE2TH 85 | /MR 234
fMEXEISTH 120 |BHEX TEHHEITH 55 |[GMHX R RHT 10.7
EXE4TH 140 |SHEX TEHHE4TH 9.4 |G F 1229
EhEXMEST B 12.8 |#MEEX PRk BE TS 223 ([GHXEIE 50.3
£hEE X Nt 1.7 |8hEE X B[ i 35 18.9 |IGMHX B H 85.4
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1TEET £ miE(ha) [fTEAT 4 Efa(ha)
LEREZRIE4THE 45 [BRERXA 29.1
LERFAZRIE4THE 56 |BRERXLF 35.3
LERAZRE5THE 6.8 [EXEH 61.4
LERFAZRIE6TH 2.4 |Bg IR BX g5 [ T 11.4
LERAZRE7THE 44 |BREXER 65.6
LERFAZRIE8TH 19 |REBX LR 28.9
I X 76 555 1451 |REBX LRE 81.1
[ 8 B 35 L BT 6.4 [REX TR 81.9
[GHEXERTTHE 8.9 |HEmT 306.1
[GHXEH2T B 94 |[BEETFR1TH 8.4
[GXEHIT B 99 [BEETFR2TH 12.6
[GXEHAT B 103 |AEET#E1TH 5.6
[GXEHST B 133 |AEET#E2TH 8.8
KiER XK 69.7 | BERT#E 778
KERER 318 |BERTF{kEF1TH 14.0
KEXTLH 235 |HERTF kG F2TH 11.7
KERXRKER1TH 8.7 |BERTF{kEF3ITH 85
KERXRKERT2TH 83 |BERTF{kEm1TH 19.2
KERXKER3TH 142 |BEBTFEBE2T B 19.7
KERXRKERT4TH 44 |BERTFEBIL1TH 87
KEREE 478 |BERTF{.EIL2T B 11.7
KEXR T 318 |BERTF{.EIL3TH 15.7
KERXMHHET1TH 8.8 | Kiz 485
KERXMHHET2T B 144 |)\R 384
KEXRBEEER1TH 7.2 | KRG+ /\ X HET 118
KEREXEIT2TH 10.8 (AR iZaTRET 10.2
KER#HE1TH 6.2 | RF\It &ET 8.1
KER#HEI2TH 6.5 [ 99.4
RERBEFET1TH 15.9 [# 50.0
RERBEFET2TH 224 |Ba 35.0
RNERBERFETSTH 18.6 |\ 81.0
RERBEFET4TH 16.7 (3EH 78.6
RERBEFETSTH 25.4 |BoRZET RO T2 345.6
KEXRERHET 174 (MR ETAER 328
RiERX LK EET 54 | KigHT 2625
WTFEHFER 136.6 | KIEET =&/ 34
T X EE 210.7 | KIERAT9B1T B 6.0
HBTRRFERE 20.0 | KiERET# 2T B 56
HBTEKRIS 61.5 | KIERT 93T B 3.3
T XA 1422
T XA ET 11.4
T X 18R HET 77
BTRIAHFER 11.7
BTRXISEH 5.8
HBTERIEHIN 58
HTEHETE 70.2
T XERNILET 13.0
T X 18 N AHET 16.6
8T X 18 I EgET 15.0
T XEATEET 12.6
TR E 413
BT X 30.8
BT XEHS 63.2
WTFXEBHF 346
MWTXAA 49.9
HTX=H 321
WTXEH 12.2
HBTREA 476
BRET 68.6
g5 [ X g LI BT 5.8
R T AH 59.6
B[R XEHE A 58.3

EAEFERAFIAIHRE)OERICEIZTHELHLLIOT, MIEEEF T, SFHImEEBL I —BLEEA.

84




8. HARC-FETH(ER)

. Ho£ W A
2 | x | % | 8 | x |
it 2,515 2,332 4,847 2,654 2,532 5,186
9. FERITET-BK (4R
£ 2o X 0O E E & B AN Z & A 0O
£ H | 0B | & | F g | B | & | & T £ B
0% 5 1 6 15 0 3 3 65 50 22 72
1 2 2 4 16 0 2 2 66 53 23 76
2 0 0 0 17 1 0 1 67 51 21 72
3 1 0 1 18 1 0 1 68 41 18 59
4 0 0 0 19 1 0 1 69 60 25 85
5 0 1 1 20 2 0 2 70 56 27 83
6 0 0 0 21 1 0 1 71 85 33 118
7 0 0 0 22 2 1 3 72 71 34 105
8 0 0 0 23 3 1 4 73 69 39 108
9 0 0 0 24 2 1 3 74 51 42 93
10 1 0 1 25 4 1 5 75 83 39 122
11 0 0 0 26 2 1 3 76 70 38 108
12 0 0 0 27 1 0 1 77 88 55 143
13 0 1 1 28 1 0 1 78 80 61 141
14 0 1 1 29 3 4 7 79 93 62 155
30 1 2 3 80 101 90 191
0~145% 9 6 15 31 2 2 4 81 89 78 167
(ﬁ%) 32 2 1 3 82 100 90 190
SHEAER 2 0 2 33 2 0 2 83 110 76 186
34 0 1 1 84 98 85 183
35 3 0 3 85 86 98 184
36 5 0 5 86 99 104 203
37 5 1 6 87 81 118 199
38 5 0 5 88 69 118 187
39 3 3 6 89 53 115 168
40 6 4 10 90 53 93 146
41 7 4 11 91 50 114 164
42 6 8 14 92 45 101 146
43 6 5 11 93 29 92 121
44 3 0 3 94 22 81 103
45 10 0 10 95 16 66 82
46 5 2 7 96 11 67 78
47 6 7 13 97 13 57 70
48 5 3 8 98 12 32 44
49 5 6 11 99 1 24 25
50 16 8 241 100LL E 9 59 68
51 8 8 16
52 11 9 20|65/ LLE 2,148 2,297 4,445
53 9 11 20
54 21 4 25
55 16 8 24
56 19 4 23
57 22 6 28
58 16 8 24
59 21 11 32
60 32 20 52
61 42 9 51
62 43 13 56
63 54 26 80
64 56 21 77
15~645% 497 229 726
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